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When A Light Ray Passes From A Denser Medium To A Rarer Medium , Which

Angle Is Greater ?

9
A. Angle Of Incidence v olenfey
(

B. Angle Of Refraction/ . .

C. Both ravey

D. None Of The Above
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When A Light Ray Passes From A Denser Medium To A Rarer Medium , Which

Angle Is Greater ?

A. Angle Of Incidence
B. Angle Of Refraction
C. Both

D. None Of The Above
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The Power Of A Lens Is -4.0 D. Which Lens Is It ?

A. Convex

B. Concave v p= _L

C. Both 7{

D. None Of The Above P=-ve = ]{
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The Power Of A Lens Is -4.0 D. Which Lens Is It ?

A. Convex

B. Concave

C. Both

D. None Of The Above
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A Lens That Is Thinner At The Middle Than Edges Is

A. Concave

B. Convex

—— Thinndy af middle
C. Plano-concave

D. Plano-convex \U

Concave (en

AAAALST | p
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A Lens That Is Thinner At The Middle Than Edges Is

A. Concave

B. Convex
C. Plano-concave

D. Plano-convex
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Formula To Find The Refractive Index Of A Medium Is

A. n =Speed Of Light In Medium / Speed Of Light In Air

B. n=1/Speed Of Light In Medium

C. n=Speed Of Light In Air / Speed Of Light In Medium /
D. n=1/Speed Of Light In Air

n = 57,&4 o/’ Light m alr

A
" v « n medigm
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Formula To Find The Refractive Index Of A Medium Is

A. n =Speed Of Light In Medium / Speed Of Light In Air
B. n=1/Speed Of Light In Medium

C. n=Speed Of Light In Air / Speed Of Light In Medium
D. n=1/Speed Of Light In Air
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If A Light Ray Passes From Glass Into Air

A. It Does Not Bend \

B. It Bends Away From The Normal denger o raver
C. It Continues Along The Normal /

D. It Bends Towards The Normal

amaa, f'rm normaf
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If A Light Ray Passes From Glass Into Air

A.
B
C.
D

. It Bends Towards The Normal

It Does Not Bend
It Bends Away From The Normal

It Continues Along The Normal
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What Is The Unit Of Refractive Index ?
A. m/s

cm/s

B
C. Nounits v/
D. None of the above ?”erﬁch'n zndex ;S‘ T‘af'/ao 07{ !/edg.
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What Is The Unit Of Refractive Index ?

A. m/s

B. cm/s

C. No units

D. None of the above



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 6

The tefractive indices of two media are
denoted by ny and ny, and the velocities
of light in these two media are
respectively v and vy, If ng /ny i8 145,
which one of the following statements is
correct? |

@) 1 is 1'5 times v,.
(b) v, i8 15 times v
(¢) 1w is equal to v,
(d) v is 3 times vy

Vo5 1.5 4m h, .
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EEEEE

The tefractive indices of two media are
denoted by n, and ny, and the velocities ANSWER : (A)
of light in these two media are
respectively ¢ and v,. If ng /0y 18 145,
which one of the following statements is
correct?
(a) v 18 15 times v,
(b) vy i8 15 times y;.
(¢) 1w is equal to v,
(d) v is 3 times vy
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Which one of the following statements
about the refractive index of a material
medium with respect to air is correct ? -

L , |
(a) It can be either positive or negative ¢ medrun - ( _—
(b) It can have zero value gf N M.Y' J

(c) It is unity for all materials &

——

. (i) -
(d) It is always greater than one ' 0
/ Wbsolute refrachve Index f’
Medrun ,
‘\/\‘h/ g
speed of Ughtio aiv . 310" M1
spwf roff Z{jh/‘ n mediar
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EXAMS

Which one of the following statements ANSWER : (D)
about the refractive index of a material

medium with respect to air is correct ? -
(a) It can be either positive or negative
(b) It can have zero value

(c) It is unity for all materials

(d) It is always greater than one
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If the focal length of a convex 1:1-63\’
50 cm, which one of the following 1s its 7(: + Ve
power?

(a) +2 dioptre

P = /0D = Joo

(b) +0-02 dioptre ? ([;) :m ) + 50 ¢ep

fe) -0-5 dioptre

(d) +0'5 dioptre

[@i=]

+2 )
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If the focal length of a convex lens is ANSWER : (A)

50 cm, which one of the following 1s its
power?

fa} +2 dioptre
(b) +0:02 dioptre
fc) -0-5 dioptre

(d) +05 dioptre
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EXAMS

The Sun is seen little before it rises and
for a short while after it sets. This is
because of

(a) total internal reflection
(b) atmospheric refraction

(c) apparent shift in the direction of
Sun

(d) dispersion
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EXAMS

The Sun is seen little before it rises and ANSWER : (B)
for a short while after it sets. This is
because of

(a) total internal reflection
(b) atmospheric refraction

(c) apparent shift in the direction of
Sun

(d) dispersion
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EXAMS

Which one of the following statements

. > 9
regarding lenses 18 not correct
(a) A convex lens produces both real and

virtual images. . O’DIJ

v virtual images.
(¢) A convex lens can
greater and smaller than t
object. |
(d) A concave lens always pl'oducfes images
smaller than the size of the object.

produce images equal,
he size of the
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EXAMS

Which one of the following statements

' i rect ?
regarding lenses 18 not correc |
(a) A convex lens produces both real and ANSWER : (B)

virtual images.

(b) A concave lens produces both real and

virtual images.
(¢) A convex lens can
greater and smaller than t
object. |
(d) A concave lens always produges images
smaller than the size of the object.

produce images equal,
he size of the
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EXAMS

Light rays move in straight lines. But through

an optical fibre, they can move in any type of

zigzag path because

() the holes through the fibre are
extremely fine.

()  light rays are absorbed at'the entry end
and relieved at the exit end of the fibre.

(c) scattering of light occurs inside the fibre.

internal reflections

(d)  successive total
occur as a ray moves through the fibre.
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Light rays move in straight lines. But through

an optical fibre, they can move 1n any

type of

zigzag path because

(a)

(b)

(e)
(d)

the holes through the fibre are

extremely fine.

light rays are absorbed at the entry end

and relieved at the exit end of the fibre.

scattering of light occurs inside the fibre.

internal reflections
ough the fibre.

Successive total
occur as a ray moves thr

ANSWER : (D)

EXAMS
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EXAMS

A lemon kept in water in a glass
tumbler appears to be larger than its
actual size. It is because of

(a) reflection of light
(b) scattering of light
(c) - refraction of light

(d) polarization of light



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 6

EXAMS

A lemon kept in water in a glass
tumbler appears to be larger than its
actual size, It is because of ANSWER : (C)

(a) reflection of light
(b) scattering of light
(c) - refraction of light

(d) polarization of light
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EXAMS

A lens has a power of +2:0 Dioptre.
Which one of the following statements
about the lens is true ?

(a) The lens is concave and has a /
focal length of 0-5 metre P = L
L
(b) The lens is convex and has a focal {(/ N m
length of 2:0 metre
(c) The lens is convex and has a focal _ / ~ |1 0. 5 )]
length of /0-5 metre - ‘

(d) The lens is concave and has a
focal length of 2:0 metre
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EXAMS

A lens has a power of +2:0 Dioptre.
Which one of the following statements .
about the lens is true ? ANSWER : (C)

(a) The lens is concave and has a
focal length of 0-5 metre

(b) The lens is convex and has a focal
length of 2:0 metre

(c) The lens is mnvex and has a fucal
length of 0-5 metre

(d) The lens is concave and has a
focal length of 2:0 metre
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EXAMS

The refractive index of fused quartz is
1-46 and that of sapphlre s 1.77. If v,
is the speed of light in quartz and v
is the speed of light in sapphire, thﬂn
which one of the fnllowmg relations is

correct ?
>v. S .
(a) Va Vs- n, = /,(,6 7)3 p /o-??
(b) vi>v, Z
(€) v,=v y D
Lo ’s Z) Inverse Y%ﬁﬂ)
Vq

(d) Vs = EY
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EXAMS

The refractive index of fused quartz is
1-46 and that of sapphire is 1-77. If v,

is the speed of light in quartz and v ANSWER : (A)
is the speed of light in sapphire, thE:I'l

which one of the followmg relations is

correct 7

(@) vg> v

(b) v,> vql

©) vi=v,

Vq
(d) Vs = 2
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Twinkling of stars is due to
(a) particular frequencies of the starlight.

(b) reflection of starlight from the oceanic

surface.
(¢c) atmospheric refraction of starlight.

(d) magnetic field of Earth.

EXAMS
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Twinkling of stars is due to
(a) particular frequencies of the starlight.

(b) reflection of starlight from the oceanic
surface.

(¢) atmospheric refraction of starlight.

(d) magnetic field of Earth.

ANSWER : (C)

EXAMS
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Power of a lens of focal length 25 em 1s
(a)  +2:5 Dioptre
(b) 43 Dioptre
(¢c) 44 Dioptre
(d) +5 Dioptre
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Power of a lens of focal length 25 cm is
(a) +2:5 Dioptre

(b) 43 Dioptre

(¢) +4 Dioptre

(d) +5 Dioptre

ANSWER : (C)

EXAMS
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When A Ray Of Light Enters From One Medium To Another , Which Of The

Following Does Not Change ?

A. Speed ¢« ‘ .

pmf““’ﬁ’ ‘f ﬂyﬁf' Yemame Same
B. Frequency V' >
C. Both ¢

D. None Of The Above
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When A Ray Of Light Enters From One Medium To Another , Which Of The
Following Does Not Change ?

A. Speed

B. Frequency

C. Both

D. None Of The Above
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Which of the following materials cannot be used to make a lens ?
A. Glass
B. Water

C. Clay

A o be 7(rao_c/oamn/‘ malena/f.

D. Plastic
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Which of the following materials cannot be used to make a lens ?

A. Glass
B. Water
C. Clay

D. Plastic
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The Refraction Of Light Is Commonly Known As ?
A. Bending

B. Scattering

C. Reflection

D. Interference
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The Refraction Of Light Is Commonly Known As ?
A. Bending

B. Scattering

C. Reflection

D. Interference
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Mirage is an illustration of

(a)
(b)
(c)
(d)

only dispersion of light.
only reflection of light.
only total internal reflection of light.

both refraction and total internal
reflection of light.

EXAMS
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Mirage is an illustration of

(a)
(b)
(c)
(d)

only dispersion of light.
only reflection of light.
only total internal reflection of light.

both refraction and total internal
reflection of light.

ANSWER : (D)

EXAMS



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 6

Which one among the . following
figures correctly represents the ray
diagram ? (Consider the lens to be

thin)
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EXAMS

Which one among the . following
figures correctly represents the ray
diagram ? (Consider the lens to be

thin)

(b)

2f f ] —
2f ] ~

ANSWER : (D)
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Which one among the following is the
correct focal length of a combination
of lenses of power 2-5 D and -2-0 D ?

(a) +0-5m
() 05 m P=Fh +
) +2:0m / )
(d -2-0m " 50 - 1+0)
= +0.5 )
/

ombine
4 /me/
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Which one among the following is the
correct focal length of a combination
of lenses of power 2-5 D and -2-0 D ?

(a) +0-5m
(b) =05 m
(c) +2-0 m
@ -2-0m

ANSWER : (C)

EXAMS
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A pencil is placed upright at a
distance 10 em from a convex lens
of focal length 15 cm. The nature
of the image of the pencil will be

(a) real, inverted and magnified
(b) real, erect and magnified

(c) virtual, erect and reduced

(cl) virtual, erect and magnified S

= B

— e —e. e
— -

050&@% e befoeen f and 0
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A pencil is placed upright at a
distance 10 em from a convex lens
of focal length 15 cm. The nature
of the image of the pencil will be

(a) real, inverted and magnified
(b) real, erect and magnified
(c) virtual, erect and reduced
(d) virtual, erect and magnified

ANSWER : (C)
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Which one of the following
statements is not correct?

(a) The radius of curvature of a

concave mirror is twice its focal v
length
(b) Power of a convex lens is negative _
and that of a concave lens is 0( P = 1 Ve ""'} 7[‘ +7e Gnvex b’n“
positive
(¢) The radius of curvature of a plane - _ - f - C
mirror is infinity f ve 7 = — Ve [ Cohcave [ens

(d) When a ray of light passes from
an optically denser medium to an
optically rarer medium, then the
angle of refraction is greater than
the corresponding angle of
incidence
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Which one of the following
statements is not correct?

(a) The radius of curvature of a
concave mirror is twice its focal
length

(b) Power of a convex lens is negative
and that of a concave lens is
positive

(¢) The radius of curvature of a plane
mirror is infinity

(d) When a ray of light passes from
an optically denser medium to an
optically rarer medium, then the
angle of refraction is greater than
the corresponding angle of
incidence

ANSWER : (B)

[@i=]
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Which one of the following
statements is correct?

(a) The image formed by a concave
mirror for an object lying at infinity
is at the principal focus, highly
diminished, real and inverted e

(b) A ray of light parallel to the
principal axis after reflection from a

concave mirror appears to diverge 0
from the principal focus of the \__- l/ an}id
mirror

(c) The focal length of a spherical

mirror is double of its radius of ‘f:a/{
curvature \/

(d) A ray of light travelling from a rarer
medium to a denser medium bends

W froards
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Which one of the following
statements is correct?

(a) The image formed by a concave
mirror for an object lying at infinity
is at the principal focus, highly
diminished, real and inverted

(b) A ray of light parallel to the
principal axis after reflection from a
concave mirror appears to diverge
from the principal focus of the
mirror

(c) The focal length of a spherical
mirror is double of its radius of

curvature

(d) A ray of light travelling from a rarer
medium to a denser medium bends
away from the normal

ANSWER : (A)

[@i=]
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Statement I Diamond is very /
bright.

Statement II Diamond has very X
low refractive index.

(a) Both the statements are individually
true and Statement Il is the correct
explanation of Statement |

(b) Both the statements are individually
true but Statement Il is not the
correct explanation of Statement |

(c) Statement | is true but Statement I
s false

(d) Statement | is false but Statement |I
s true
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Statement I Diamond is very
bright.

Statement II Diamond has very
low refractive index.

(a) Both the statements are individually
true and Statement Il is the correct
explanation of Statement |

(b) Both the statements are individually
true but Statement Il is not the
correct explanation of Statement |

(c) Statement | is true but Statement I
s false

(d) Statement | is false but Statement |I
s true

ANSWER : (C)
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A ray of light when refracted
suffers change in velocity. In this
context, which one among the
following statements is correct?

(a) Velocity increases as the ray
passes from a rarer to a denser o
medium

(b) Velocity decreases as the ray passes
from a denser to a rarer medium &

(c) Velocity decreases as the ray
passes from a rarer to a denser
medium v

(d) Change of velocity does not
depend on the nature of medium

[@i=]
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A ray of light when refracted
suffers change in velocity. In this
context, which one among the
following statements is correct?

(a) Velocity increases as the ray
passes from a rarer to a denser
medium

(b) Velocity decreases as the ray passes
from a denser to a rarer medium

(c) Velocity decreases as the ray
passes from a rarer to a denser
medium

(d) Change of velocity does not
depend on the nature of medium

ANSWER : (C)
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A ray of light travels from a
medium of refractive index n, to a
medium of refractive index n,. If

angle of incidence is 1 and angle of

. sin i .
refraction is r, then

—— 18
sin r
equal to
(a) n, (b) n,
(c) 22 () 2
n n,

fne// % faw#_

\(

~
»

|

]
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A ray of light travels from a
medium of refractive index n, to a
medium of refractive index n,. If

angle of incidence is i and angle of
sin i .

refraction is r, then —— is
sin r
equal to
(a) n, (b) n,
(c) 22 () 2
n n,

ANSWER : (C)
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If speed of light in air is

3x10% m/s, then the speed

of light in glass (with refractive
index 1.5) would be

(a)2 x 10°m/s (b) 4.5 x 10° m/s

(c) 3x 10® m/s (d) 1.5 x 108 m/s

('n: ‘5")

/'5 = }Klot

v

2500¢ mfo
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If speed of light in air is

3x10% m/s, then the speed

of light in glass (with refractive
index 1.5) would be

(a)2 x 10°m/s (b) 4.5 x 108 m/s

(©) 3 x 10% m/s (d) 1.5 x 108 m/s

ANSWER : (A)

EXAMS
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Rays of light get refracted while
passing from air to glass because

(a) density of glass is higher than that
of air o

(b) they cannot be reflected from a den_""t X o) h('_a/ JQM;'/V v
glass surface d( /

(c) glass absorbs energy from the light or
rays

(d) speed of light in glass is less than Y"LfY’MH"VE ;W{CK
the speed of light in ait/

/
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Rays of light get refracted while
passing from air to glass because

(a) density of glass is higher than that
of air

(b) they cannot be reflected from a
glass surface

(c) glass absorbs energy from the light
rays

(d) speed of light in glass is less than
the speed of light in air

ANSWER : (D)
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An optician prescribes a power
=— 0.5 D. The corresponding lens
must be a _

(a) convex lens of focal length 2 m

b) convex lens of focal length 50 cm
(c) concave lens of focal length 2 m

(d) concave lens of focal length 50 cm

’ _ / - =2m
P -0

{ -

Coneave (epg
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An optician prescribes a power
=— 0.5 D. The corresponding lens
must be a _

(a) convex lens of focal length 2 m

b) convex lens of focal length 50 cm
(c) concave lens of focal length 2 m

(d) concave lens of focal length 50 cm

ANSWER : (C)
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